
- Parts list -

Mode :  MD mode Mod. des. overview :  CLK CONVERTIBLE                                                                  

FIN/MD :  WDB 2094721F212778 Catalog :  69W 

VIN :  WDBTK72F67F212778 Major assembly :   

Sales designation :  CLK 550 Major assembly MD :   

Assortment c lass :  Car Group :  88 - ATTACHMENT PARTS 

Market :  North America Subgroup :  030 - FRONT BUMPER

Item no.  Part number  Designation/description  Quantity  Version  

10  A 209 885 47 25  PANELING

FRONT BUMPER GEPRIMERT

Code: 264+772

[004, 005, 420, 008] From Chassis: T 048983 From Date: ...  

001     

20  A 209 885 08 65  FRAME

FRONT BUMPER

Code: -P98+772

[004, 005, 409] From Chassis: T 048983 From Date: 10/01...  

001     

30  A 209 885 23 37  ENERGY-ABSORBING UNIT

IMPACT ABSORBER LEFT

Code: -P98+263+772/-P98+264+772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

40  A 209 885 24 37  ENERGY-ABSORBING UNIT

IMPACT ABSORBER RIGHT

Code: -P98+263+772/-P98+264+772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

50  A 209 885 19 37  ENERGY-ABSORBING UNIT

CENTRAL

Code: -P98+263/-P98+264/-P98+26...

[018, 005] From Chassis: T 048983 From Date: 14/01/2005...  

001     

70  A 209 885 03 26 5357  FLAP

TOWING EYE

[004, 005, 901] Color f ootnote  

001     

70  A 209 885 03 26 5357  FLAP

TOWING EYE

[004, 005, 900] Color f ootnote  

001     

120  A 209 885 09 21  GARNISH MOULDING

CHROMIUM COVER, LEFT

Code: -P98

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

125  A 209 885 10 21  GARNISH MOULDING

CHROMIUM COVER, RIGHT

Code: -P98

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

130  A 209 885 10 81  COVER

LICENSE PLATE MOLDING TO BUMPER

Code: -823

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

130  A 209 817 00 78  LICENSE PLATE MOULDING

LICENSE PLATE MOLDING TO BUMPER

Code: 772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

130  A 209 817 03 78  LICENSE PLATE MOULDING

LICENSE PLATE MOLDING TO BUMPER

Code: 264+772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

130  A 209 817 03 78  LICENSE PLATE MOULDING

LICENSE PLATE MOLDING TO BUMPER

Code: 494+772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

140  A 001 984 64 29  FILLISTER HEAD SCREW 004     

Copyright Daimler AG, 11/07/13, EPC 1.24.2.0, DW 07/2010 Page 1



140  A 001 984 64 29  FILLISTER HEAD SCREW

COVER ATTACHMENT M5X16

Code: -P98+772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

004     

140  A 001 984 64 29  FILLISTER HEAD SCREW

COVER ATTACHMENT M5X16

Code: -P98+264+772/-P98+263+772...

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

004     

140  A 001 984 64 29  FILLISTER HEAD SCREW

COVER ATTACHMENT M5X16

Code: -P98+264+772  

004     

150  N 304017 005002  HEXAGON HEAD BOLT

FASTENING TO FLEXIBLE BUMPER

BRACKET M5X16   

004     

155  N 304017 006018  HEXAGON HEAD BOLT

BUMPER FASTENING TO FLEXIBLE

BUMPER BRACKET M6X12   

004     

160  A 004 994 12 45  SHEET METAL NUT

FASTENING TO BUMPER M5  

004     

170  A 203 880 11 14  BRACKET

LEFT  

001     

170  A 203 880 12 14  BRACKET

RIGHT  

001     

180  A 203 889 01 95  INTERMEDIATE LAYER

LEFT  

001     

180  A 203 889 02 95  INTERMEDIATE LAYER

RIGHT  

001     

180  A 209 889 01 95  INTERMEDIATE LAYER

TO BUMPER LEFT  

001     

180  A 209 889 02 95  INTERMEDIATE LAYER

TO BUMPER RIGHT  

001     

190  N 000000 000530  TAPPING SCREW

FASTENING TO FENDERS LEFT AND

RIGHT 4.8X22   

002     

200  A 203 880 01 30  GUIDE

FASTENING TO FENDERS LEFT AND

RIGHT   

002     

210  A 003 990 94 97  BLIND RIVET

INTERIOR PART MOUNTING

Code: -P98+772  

006     

215  A 000 990 38 56  CLIP

INTERIOR PART MOUNTING

Code: -P98+772  

008     

220  A 203 885 01 34  CLIP

INTERIOR PART MOUNTING

Code: 772  

002     

225  A 000 988 27 82  EYE

AT INNER MEMBER

Code: -P98+772  

004     

230  A 003 990 94 97  BLIND RIVET

AT INNER MEMBER

Code: -P98+772  

002     

235  A 000 994 00 45  CLIP

INTERIOR PART TO PANELLING

Code: 772  

025     

275  A 209 885 03 53  GRILLE

LEFT FRONT BUMPER

Code: 772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

280  A 209 885 05 53  GRILLE

BUMPER FRONT CENTER

Code: 772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

285  A 209 885 04 53  GRILLE

RIGHT FRONT BUMPER

Code: 772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

001     

290  A 002 988 51 81  PUSH BUTTON

AIR INLET

Code: -P98+772

[004, 005] From Chassis: T 048983 From Date: 10/01/2005...  

006     

295  A 003 994 05 45  FUSE

AIR INLET

Code: 772

[037, 038] From Chassis: T 064913 From Date: 07/11/2005  

006     

Copyright Daimler AG, 11/07/13, EPC 1.24.2.0, DW 07/2010 Page 2



310  A 209 885 01 16  REINFORCEMENT

FRONT LEFT

Code: 772  

001     

310  A 209 885 02 16  REINFORCEMENT

FRONT RIGHT

Code: 772  

001     

315  A 209 885 03 16  REINFORCEMENT

REAR LEFT

Code: 772  

001     

315  A 209 885 04 16  REINFORCEMENT

REAR RIGHT

Code: 772  

001     

320  A 011 988 69 78  CLIP

REINFORCEMENT FASTENING

Code: 772  

008     

325  A 003 990 94 97  BLIND RIVET

REINFORCEMENT FASTENING

Code: 772  

002     

330  A 209 885 05 26  COVER FLAP

IN LEFT FRONT COVERING

Code: 772  

001     

330  A 209 885 06 26  COVER FLAP

IN RIGHT FRONT COVERING

Code: 772  

001     

335  A 220 885 00 59  REBOUND STRAP

MOUNTING FLAP

Code: -P98+772  

002     

340  A 209 885 00 63  GUIDE

RADIATOR

Code: 772  

001     

345  A 000 990 25 92 9051  EXPANSION RIVET

MOUNTING, GUIDE

Code: 772

[903] Color f ootnote  

004     

350  N 000000 000479  TAPPING SCREW

AIR GRILLE FASTENING

Code: 772  

006     

Copyright Daimler AG, 11/07/13, EPC 1.24.2.0, DW 07/2010 Page 3


